Physics 231 - 15-Nov-99

Announcements

Thermodynamic Processes

Isobaric, Isometric, Isothermal
Adiabatic

Cyclical Processes
The Carnot Cycle
quiz
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Thermodynamic Processes

sobaric - P is constant
sometric - V IS constant
sothermal - T Is constant

16-Nov-99



Adiabatic Process

DQ =0

PV9is constant; g= 1.67 for monatomic gases
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Ql - Answer=c

Q2 - Problem A - Last name A-K

A heat engine runs on a cycle shown below.
How much work is done by the engine during

one cycle?
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Ql - Answer =c¢
Q2 - Problem B - Last Name L-Z

A heat engine runs on a cycle shown below. How
much work Is done by the engine during one cycle?
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